CPCTC and Naming Congruent Triangles
l. Draw and label a diagram. Then solve for the variable and the missing measure or length.

1. IfABAT 2 ADOG,and msE = 14, meG = 29, and m«0 = 10x + 7. Find the value of x and m 20,
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If ACOW = E-.PIE' and 00 = 25, CW =18, IG =23, and PG = 7x — 17 . Find the value of x and PG.
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. IfAD A DE =3x—10,QR = 4x — 23 PO =2x+7, @
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1. Use the given information and triangle congruence statement to complete the following.
1. &ABC = Q:;G' AB=4,BC=6,and AC = 8. What is the length of G0? How do you know?
2

. ABAD = A@fﬁ] meD =527, mr_’B@ and mzA :

a. What is the largest angle of ALUK?
v\

i ?
b. What is the smallest angle of ALUK? a L

3. ASUN = AHOT. AS5UNisisosceles. Is there enough information to determine if AHOT is isosceles?

Explain why or why not.
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